sin(a+B)=sinacosf +cosasinf
sin(a-B)=sinacosp-cosasinf
cos(a+p)=cosacosp-sinasinf
cos(a-B)=cosacosB+sinasinf
tg(a+B)=(tga+tgB)/(1-tgatgP)
tg(a-B)=(tga-tgR)/(1+tgatg)

sin(2a)=2sin(a)cos(a);
cos(2a)=cos”"2(a)-sin"2(b)=1-2sin"2(a);
tg(2a)=2tg(a)/1-tg"2(a);
ctg(2a)=ctg”2(a)-1/2ctg(a);
sin(3a)=3sin(a)-4sin"3(a);
tg(3a)=3tg(a)-tg"3(a)/1-3tg"2(a);
ctg(3a)=3ctg(a)-ctg"3(a)/1-3ctg"2(a);

sin?2(a/2)=1-cos(a)/2;
cos"2(a/2)=1+cos(a)/2;
tg"2(a/2)=1-cos(a)/1+cos(a);
ctg”2(a/2)=1+cos(a)/1-cos(a);
tg(a/2)=sin(a)/1+cos(a)=1-cos(a)/sin(a);
ctg(a/2)=sin(a)/1-cos(a)=1+cos(a)/sin(a);

sin(a)+sin(b)=2sin(a+b/2)cos(a-b/2);
sin(a)-sin(b)=2sin(a-b/2)cos(a+b/2);
cos(a)+cos(b)=2cos(a+b/2)cos(a-b/2);
cos(a)-cos(b)=-2cos(a+b/2)cos(a-b/2)=2cos(a+b/2)cos(b-a/2);
cos(a)+sin(b)=sqrt(2)cos(45-a);
cos(a)-sin(b)=sqrt(2)sin(45-a);
tg(a)+tg(b)=sin(a+b)/cos(a)cos(b);
tg(a)-tg(b)=sin(a-b)/cos(a)cos(b);
ctg(a)+ctg(b)=sin(a+b)/sin(a)sin(b);
ctg(a)-ctg(b)=sin(b-a)/sin(a)sin(b);
tg(a)+ctg(b)=cos(a-b)/cos(a)sin(b);
tg(a)-ctg(b)=-cos(a+b)/cos(a)sin(b);
tg(a)+ctg(a)=2/sin(2a);
tg(a)-ctg(a)=-2ctg(2a);

sin(a)sin(b)=1/2(cos(a-b)-cos(a+b));
cos(a)cos(b)=1/2(cos(a+b)+cos(a-b));
sin(a)cos(b)=1/2(sin(a+b)+sin(a-b));

sin(a)=2tg(a/2)/1+tg"2(a/2);
cos(a)=1-tg"2(a/2)/1+tg"2(a/2);
tg(a)=2tg(a/2)/1-tg"2(a/2);
ctg(a)=1-tg"2(a/2)/2tg(a/2);





